Division and Addition

Name: Class:

Calculate

1,400 + 28 + 38 = 2,050 41 +33 =

2,201 =31 +26= 752+ 16+ 52 =

4,550 =65 + 15 = 3,060 =51 +31 = 494 - 13 +42 =
330 - 22+ 81 = 72012+ 15 = 2,132 +52+34 =

1,920 +~32+22 = 1,440 +24 + 33 = 1,769 =~ 61 + 23 =

2,050 ~41+40 = 3,550 +71+22= 1,700 =25+ 31 =

1,352 +26+37 = [,L116 + 18 + 28 = 4,080 =51 + 19 =

1,188 +22 +35 = 2,325+31+14= 1,551 +33+20=
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Calculate

1,400 ~ 28 + 38 =

2,201 =31 +26=

4,550 =65+ 15=

330 +22 + 81 =

1,920 +32+22 =

2,050 41 +40=

1,352 +26+37 =

1,188 =22 +35=

Answers

88  2,050+41+33= 83

97 752 16 +52= 99

85  3,060+51+31= 91

96 720 =12+ 15= 75

82  1,440+24+33= 93

00  3,550+71+22= 72

89 1,116 = 18 +28 = 90

89 2,325+31+14= &9
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494 + 13 + 42 = 80

2,132 +52+34= 75

1,769 ~ 61 +23 = 52

1,700 =25 +31 = 99

4,080 +-51+19= 99

1,551 +33+20= 67



